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MeO

1-4

1) TMPMgBr, Cy2BCl, then 1
2) TiCl4, LiH, MeMgCl
3) MeB(OH)2
4) t-BuLi

A

5-7

5) KHF2
6) DBDMH
7) SPhos Pd G2/ SPhos (cat.), K3PO4

1) Explain the Stereoselectivity of Step 1; 
draw the transition state
2) Draw the transition state for step 2.

See Page 3

7) Please name the reaction for step 7 

Suzuki Coupling (Buchward’s Condition)
citation: JACS, 2010, 132, 14073.

1

MeO
O

MeTIPSO

OHC
Br

OMOM

O
O

Heteroclitalignan D

MeO

O
O

MeO

MeO
OMe

O

Me
BzO

OH

Me
O

Me

MeO

MeO

OTBS

TIPSO Me

OMOM

O
O

O BMeHO
Me



B

8-14

Heteroclitalignan D

8) MeI, then H2O2
9) BzCl, DMAP
10) TBAF
11) IBX, then NaBH4
12) Ac2O, DMAP
13) NaHSO4 SiO2
14) MeI, Cs2CO3
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solution to step 1:
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MeHOTiCl4, LiH
MeMgCl
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solution to step 2:


